
 

1 

E2/TT028v1.0 

2024/07 

0094-64013 

 

TECH TIP 028 

5680XS-kits 

VAG Group 1.0 – 1.2 – 1.4 – 1.5 petrol/CNG/Mild-Hybrid/iV 

                                  

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

1 

3 

2 

  

 Z80841  Z80840 

 
  

M10 x 90 M10 x 88 

? 
 Z80840 ? 

(M10 x 90) 

 Z80841 ? 
(M10 x 88) 

 


